S @99 Q? ) Multiplier les nombres décimaux par des puissances
A ‘ de dix

Nom: Date: Note:
3,705 x 10000 = 3,077 x 100000 =
8,729 x 1000 = 1, 05 x 1000000 =
10, 579 x 1000 = 3,998 x 100000 =
1,829 x 10 = 10, 752 x 1000000 =
4,067 x 10000 = 6,377 x 10000 =
3,879 x 1000 = 4, 887 x 1000000 =
10,008 x 10 = 9,075 x 100 =
9,66 x 100 = 4,408 x 100000 =
4,558 x 10000 = 5, 54 x 1000000 =
2,526 x 1000 = 8, 103 x 10000 =
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@ \ W @@D Multiplier les nombres décimaux par des puissances
‘ de dix

Nom: Date: Note:
3,705 x 10000 = 37050 3,077 x 100000 = 307700
8,729 x 1000 = 8729 1, 05 x 1000000 = 1050000
10, 579 x 1000 = 10579 3,998 x 100000 = 399800
1,829 x 10 = 18.29 10, 752 x 1000000 = 10752000
4,067 x 10000 = 40670 6, 377 x 10000 = 63770
3,879 x 1000 = 3879 4, 887 x 1000000 = 4887000
10,008 x 10 = 100.08 9,075 x 100 =907.5
9, 66 x 100 = 966 4,408 x 100000 = 440800
4,558 x 10000 = 45580 5, 54 x 1000000 = 5540000
2,526 x 1000 = 2526 8, 103 x 10000 = 81030

www.snowmath.com


https://www.snowmath.com

